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3 parameter fit: Mag—Mag(inst) = 24.55£1.71 + (~0.30+£1.38) cirmass + (—0.18£0.07) color 3 parameter fit: Mag—Mag(lnst) = 24.55£1.71 + (—0.3041.38) airmass + (—0.1840.07) color

0
1o
«
0
R
x x
0
«
o]
< P
N Xy E
=S
S
[ S0
I N N | | Q
N [N
] > \_\ x
- S
3 =
% % ar e Z,
x \\\
x X x X
<+
~
x x
N x x
0
)
«
N x
x x
1 1.05 1.1 1.15 1.2 1.25 1.3 1.35 1.4 0.5 1 1.5 2 2.5
Airmass V-R
2 parameter fit: Mag—Mag(Inst) = 24.314£0.10 + (—0.11£0.00) airmass + (—0.18+0.00) color 2 parameter fit: Mag—Mag(Inst) = 24.31+0.10 + (—0.11+0.00) airmass + (—0.18+0.00) color
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1 parometer fit: Mag—Mag(inst) = 24.25£0.03 + (~0.11+0.00) airmass + (—0.13+0.00) color 1 parameter fit: Mog—Mag(inst) = 24.25:0.03 + (—0.11+0.00) airmass + (—0.13+0.00) color
0
N
0
x R
0
<+
Rl 0
~ %
]
£
=
S
s
| e
<+ [ Pl e X
& g T g S
2«
x o~ |
x X
X |
A
x x x
0 x x
) %
« 0
x 2 x
N x
1 1.05 1.1 1.15 1.2 1.25 1.3 1.35 1.4 0.5 1 1.5 2 2.5
Airmass V-R

16-Nov-2007 17:01



